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Chapter 1

The Lebesgue Integral and L!

1.1 Countable and Uncountable Infinity

Key Concepts
1. Cantor’s definition of countable and uncountable sets of real numbers.
2. The Countable Union Theorem

3. Diagonalization proof that [0, 1] is uncountable.

Definitions. A (nonempty) set S is:
o countable when its elements can be arranged in a sequence; that is, when S is of the form S = {s1, $2, $3, 84, . . .}

e uncountable when it is not countable.

Exercises

1. Use the definitionto prove Z = {...—3,—2,—1,0,1,2,3,.. .} is countable.
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2. Use the definition to prove the cardinality of @ N [0, 1] (the set of rationals between 0 and 1) is countably infinite.
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3. Prove [0, 1] is uncountable.
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4. Prove the Countable Union Theorem: A countable union of countable sets is countable. (CUCSC)
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5. Prove the set of rationals Q is countable. Use the Countable Union Theorem.
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1.2 Measures of Intervals and Measure Zero Sets

Definitions.
o The Lebesgue measure m([I) of an interval [ is its length.

o A Measure Zero Set: m(S) = 0 when S can be covered with a sequence of open intervals I3, Io, I3, . . . whose bounded total measure

>~ m(I,) is arbitrarily small.
n=1

Example: S = {—3,7, 31} has measure zero.

Proof: Given ¢ > 0, the intervals Iy = (=3 —¢/6, -3 +¢/6), I = (T — /6,7 +¢/6), and I3 = (31 — £/6, 31 + £/6) form an open
cover (do you see why S C I U I, U I3?) with bounded total measure equal to m(I1) + m(lz) + m(I3) =¢/3 +¢/3 +¢/3 =€ (do

you see why?).

Example: N = {1,2, 3, ...} has measure zero.

Proof: Given ¢ > 0, the intervals I,, = (n — /2" n + ¢/2""1), n € N, form an open cover (do you see why N C (JI,,?) with

bounded total measure equal to > m(I,) = > €/2" = € (do you see why?).

n=1 n=1

Exercises. 1. Find the length of each interval I:

1. I =[-7,31) wm (’_D: - (-7 = 3%
21=(avD)  wlr) s W-lemy: J2 AT

3. T =(0,00) wmln) = oo

2. Prove each set has measure zero. ©
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4. Any countable set .S.
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1.3 Step Functions and their Lebesgue Integrals }/ Ty v Ty

; e P
Definitions. A step function: Y ¢; - X7, (x), where ¢; is a real constant and 2824 is a characteristic function of a bounded interval ;.
j=1
e The Lebesgue integral of a step function: [ > ¢; - Xy, (z) dz = Y ¢; - m(I;). < (\:—f—i&-} ‘SLNU:;(
oo j=1 j=1 oF locundlesrs
1 o_( s
Exercises. fnfery
1. Why isn’t h(z) = 10 - X1 5 — 6 step function?
V\p-l'— bbw/\aﬂ{ot
2. Graph the functions. Then find their Lebesgue integral, showing work:
@ f(x) =10- X5 +6- X510+ 5 Xao,15) + 3 - X1s,25) + X(30,40]
o P
“ (Wdu =
S 5o 20
(o [
4
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(b) g(x) = =10 X 55 — 6 X(5,10 — 5~ X(10,15) — 3 - X(15,25) — X(30,0]
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4 - |
1

=
7

3. Use the definitions to prove these theorems: ( L—}VL@M O PQA‘D\&’W)

(a) Theorem: If f is a step function, then so is af (where a is any real constant) and [a- f=a [ f.
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(b) Theorem: If f and g are step functions, then so is af + bg (where a,b € R)and [(a- f+b-g)=a [f+0b [g.
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1.4 Limits

Key Concepts

1. limit of a sequence - rigorously define lim s, = L for a sequence of (real) numbers s,,.

n—oo

2. limit of a function - rigorously define lim f(x) = L for a (real) function f.

r—a

3. pointwise limit of a function sequence - rigorously define lim f, (x) = f(x) for a sequence of (real) functions f, ().

1.4.1 Three Types of Limits

Definitions

1. The limit of a sequence {s, }. lim s, = L means: given ¢ > 0, there exists N > 0 such that |s, — L| < & whenever n > N.
n—oo

2. The limit of a function f as x approaches c. lim f(x) = L means: for every € > 0, there exists § > 0 such that 0 < |z — c| < §
implies |f(z) — L] <e. ¥ s conbinwens ok o (¥ [iwm §(0) = FO

X-2C
3. The pointwise limit of a function sequence. For a specific z, lim f,(x) = f(x) means the sequence {f,(z)} approaches the
value f(z) in this way: given € > 0, there exists N > 0 such that | f,(z) — f(x)| < € whenever n > N. When this happens on a

domain set D of x’s, then the limit values f(z) define a function f on D called the pointwise limit of the f,,’s. Here, lim f, = f.

1.4.2 Working with the definitions
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2. Prove 1in35(4x +3)=—17.
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3. Apply the restriction technique to prove hm (:c +x)=2.
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4. Define a sequence of functions on the interval [0, 1].

0 ifz €0, 1)
Let fu(z) = 0 ifzel0,l) fo(e) = 1/4 ifz e[l d) e
1/2 ifz e [$,1], 1/2 ifz e[}, 3)

3/4 ifxe[3,1],
The nth function in the sequence is piecewise defined on 2™ intervals of equal width 1/2", and it outputs the range value k/2" on
the kth interval, where k runs from 0 to 2" — 1.

A. Graph, on the same set of axes, f(z) = x along with f(x), f2(x) and f3(x).

B. Examine z = 1/3. Find lim fn(%), any way you can. Can you give an ¢, § proof of your result?
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B. It turns out, for any = € [0, 1], that | f,(z) — | < 1/2™. [Can you prove this fact?] Use it to prove lim f,(z) = z for any
x € [0, 1]. Thus f(z) = x can be thought of as the pointwise limit of the sequence of functions { f,,(x)}52,.
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1.5 Definition of L!

Key Concepts

1. All integrals in this section refer to the LEBESGUE integral—therefore, we need to see how the Lebesgue integral is defined.

2. L functions and their integrals - functions with finite Lebesgue integral that are the a.e. limit of a nondecreasing sequence of step

functions form a collection L° (pronounced “L-naught™).
3. L! functions and their integrals - the Lebesgue-integrable functions form a linear space L*

4. The standard construction - used to form a sequence of nondecreasing step functions that a.e. approaches a given function f.
S A ITQPWL-/ W(pp“’“-‘ 4 g \wosk ijlnm 4 (ar) e i \mpfms e/ Wheat eept on A wosAe - Boro sk

Definition

1. Suppose {¢,(x)} is a nondecreasing sequence of step functions that converges pointwise almost everywhere to a function f(x).
Then [ f = lim [ ¢,,. When this Lebesgue integral is finite, f is in the set L°.
2. When a continuous f equals zero off an interval [a, b], the standard construction automatically defines a sequence of nondecreasing
s,
step functions ¢, = > ¢, X7, It uses a “halving technique”: divide [a, b] into 2™ subintervals, doubling the number of subinter-
k=1
vals for each subsequent function. The subintervals are I, = [a + (b — a)(k — 1)/2™,a + (b — a)k/2"™), and ¢}, is the minimum

value of f on I}, (but also including the right endpoint). We always get lim ¢,, = f. We write lim [ ¢, = [ f = f: f(x) dx.

3. The space L' of Lebesgue integrable functions consists of any function f of the form f = g — h, where g and h are in L°. Its
Lebesgue integralis [ f = [g — [ h.

4. Throughout, these (Daniell-Riesz) definitions of the integral turn out to be well-defined; e.g., no matter what nondecreasing a.e.

convergent sequence of step functions is used, the L definition J f= lim [ ¢, always gives the same Lebesgue integral for f.

Examples

ogn
1. To find 1:52 dz, use the standard construction to form ¢,,(z) = k L 2)( k-1 & (). Reindexing, simplifying, and using a
0 2 [ £ g plifying g

k=1 2m o2

well known closed form for the sum of squares gives fol 22 dr = lim f ¢n, = lim 53 i k%2 = lim 2%" (2n71)2n(26'(2n71)+1).

n—oo =0 n—oo
Taking the ratio of the highest-power coefficients evaluates the limit, and |, 01 2 de =2 =3
2. If f=g—hwithg,h € L%and [ g = 7 and [ h = In2, what can you say about f?
Solution: We can say f € L' by definition, and [ f =7 —In2.
Exercises x k€ (22)
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o L[X !
L 2.
2. Find !, 2® dz. = Ty gx?ﬂx fa 23 Z' < KZ_ «
~« ) k=

W07

3. Flndf 3:—|—5d:c where a,b € R. Tk = Ia-r Uo‘&)(—k‘o/rl“/ “"U"“)k/ﬁh]

%, (x)= Z Flasb- w\cm/z)y o
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4. Determine as a limit of step function integrals, but do not evaluate, foﬂ/ 2 sinx dz. (m +'3j{ b*ob *

5. If g,h € L° with [ g =4/5and [ h = 3/4, then whatis [(g — h)?

g = 4o, Ty el

11
6. a)Find [ f, where f = > 5c X ps1)
k=0

b) Say why f € L° and show [ f=2,where f = Z 2ka k+1)

A= 2 5 Y - b S

n-oeo \q,_o
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Practice Test on Chapter 1

1. a. Prove, using the definition, that lim 2?2+ =12.

r—3

b. Is f(x) = 22 4+ x continuous at 3? Support your answer.

| Lk €70 adqre= 3L yain § .
\{ts Ql(%, we ot —\4~°-+ szwua‘w\ ';lx -a +x~o.\
9 Z |x==f|xta] | x-al
2. Prove, using the definition, that lim xi—i_ = 0 for all real values .

n—oo N3 + 1

3. a. Write as a sequence the elementsin S = {...,—-9,—6,-3,0,3,6,9, ...} to show the set is countable.

b. Write as a sequence the elements in the Cartesian product set N x N = {(m, n) : m,n € N}, to show the set is countable. Here,
N={1,2,3,...}.

4. Recall the Cantor set is formed from a step-by-step process on the interval [0, 1], where each step removes 2™ open intervals that form
the middle third of any interval remaining after the nth step, where n = 0, 1, 2, .. .. The points that are never removed after an infinite
number of such steps form the Cantor set. Prove the Cantor set has measure zero. You may use the fact about Lebesgue measure on
intervals: that m(A) + m(B) = m(A U B) for any two disjoint intervals A and B.

5. Evaluate the step function integral [ (27 - Xj_4.4) — 37 - X[f\/g vt 4 - X(_11))

6. Using the definition of the Lebesgue integral for a function in LY, find the Lebesgue integral [ f when
=303/ 4)" X n+1)- Show all work. (You should not use the standard construction on this problem.)

7. Use the standard construction to evaluate the Lebesgue integral f14 (2% + 1) du, explicitly giving the general formula for ,, () that

forms the sequence of step functions you use. You may reference the formulas on the classroom board.
8. If h = f —gisin L' butnotin L, and both f and g are in L° with [ f = 7and [ g = —12.5, whatis [ h?

BONUS! Is the rational number 162/242 = .6694214876 in the Cantor set? Why or why not?

11
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Chapter 2

The Riemann Integral and Properties of the

Lebesgue Integral

2.1 The Riemann Integral

Key Concepts
1. supremum and infimum - the least upper bound and the greatest lower bound of a real set

2. the Lower and Upper Riemann Integral - supremum of Lower Riemann Sums and infimum of Upper Riemann Sums of a bounded

function' on an interval

3. the Riemann Integral - exists when the Lower and Upper Riemann Integrals agree, and then it equals that value (and is the definite

integral you studied in calculus)

4. Lebesgue vs. Riemann - why the Lebesgue integral is better and how their values compare

Definitions. For a real valued set A, the (real) value sup A (called the supremum) must be an upper bound for A and, if M is any
other upper bound for A, then sup A < M. In the same way, inf A (the infimum) must be a lower bound for A and, if M is any other
lower bound for A, then inf A > M.

The Lower Riemann Integral of f on [a, b], denoted f: f, is the supremum of the set of all integrals of step functions bounded above

b
by f on [a, b]. In other words, [ f =sup { [ ¢ : ¢ is astep function, and ¢ < f}.

Similarly, the Upper Riemann Integral of f on [a, b], denoted f: £, is the infimum of the set of all integrals of step functions bounded

b
below by f on [a, b]. In other words, [ f =inf { [ : 4 is a step function, and f < ¢}.

When the Lower Riemann Integral for f equals its Upper Riemann Integral, then the Riemann integral | R- f: f(zx) dz | exists and

equals that common value. Of course that also means that f is NOT Riemann integrable when the Lower and Upper Integrals do not

agree.

S(x) PN
L itz gy for x € [0,1]. D(x)

x) has a lower
0 ifzeQ

Riemann integral equal to 0 and an upper Riemann integral equal to 1, and hence R- fo (z) do = DNE.

Example. For a simple example, consider the Dirichlet function %: {

'Throughout this discussion of the Riemann integral of a function f over an interval (a, b), it will always be assumed f is bounded on the interval.

l i
L S g(ﬂtl}\ “o#l= ﬂg SCadx - Dovbour's ngw'\
12 0 o 30’-{5 % v Q\ “%



Riemann himself (in the 1860s) knew his definition failed to integrate a large number of important functions. Around 1900, Lebesgue
made precise a simple condition that determined when a (bounded) function had a well-defined Riemann integral and when it did not.

That description is in the following theorem.

The Riemann-Lebesgue Theorem: A bounded function f is Riemann integrable over an interval [a,b] if and only if the points of

discontinuity of f on [a, b] form a set of measure zero. In this case, the Riemann integral equals Lebesgue’s: R-f: fdx = f: fdx.

Darboux’s Theorem: Suppose {¢,} is a nondecreasing sequence of step functions and {¢,,} is a nonincreasing sequence of step
functions, where ¢,, < f < ), for every n and where lim f: P — ¢, = 0. Then
n—oo

1. The sequences f: ¢n, and f: 1y, converge to the same limit.
2. The function f is Riemann integrable.

3. We may calculate the Riemann integral of f in terms of the integrals of the step-function sequences:

hm f‘/’n )ydz = R- ff dz = 1Lm fb(bn(:c) dz

We can use the Standard Construction from Chapter 1, but more generally using the infimum over a subinterval instead of the mini-
mum, to construct the step function sequences used in Darboux’s Theorem. In fact, using the supremum also constructs a nonincreasing

sequence.

The Standard Construction. When attempting to form either the Riemann integral or the Lebesgue integral f: f for a function f € L°,

the following standard construction can be useful. Define a nondecreasing sequence of step functions {¢,, }, where
1. Each ¢, is piecewise defined over [a, b] using subintervals I}, = [a + (b —a)(k — 1)/2",a + (b — a)k/2™), k= 1,2,3,...,2"

2. For x € Iy, the step function’s value is the infimum of f over the subinterval. In short, ¢,,(z) = inf{f(t) : t € I};}.2

gn
3. In summary, ¢y, (z) = > my - X5, (x), where my, = inf{f(¢) : t € I};} and Ij, is as in part 1.
k=1

gn
4. The “dual nonincreasing sequence” is ¢, (z) = > My, - X7, (z), where My, = sup{f(t) : t € I} and I}, is as in part 1.
k=1

Example. 1. Use the standard construction to determine a nondecreasing step function sequence {¢,, } that converges to f(z) =2z +5
on [4, 10]. Also find the dual sequence {t,,}.

Solution: Define ¢,, and v, on 2" equal-sized subintervals of [4, 10] as ¢, (z) = 2-(4+6(k—1)/2™)+5 and 1, (x) = 2-(4+6k/2™)+5
for z in the kth subinterval with left endpoint 4 4+ 6(k — 1)/2™ and right endpoint 4 + 6k/2", where k = 1,2,...,2™.

10
2. Now evaluate lim [ 9, (z) dz and hm f ¢n(x) dx to show f(z) = 2z + 5 is Riemann integrable. What is the value of

n—oo 4
10
R- [ 2z 4 5 da? Justify your answer using a theorem in this section.
4

Solution Using the definition of the Lebesgue integral of step functions from Chapter 1,

n

lim f ¢u(z)dr = lim 37 [2-(4+6(k—1)/2")+5]-(6/2") = lim £ (13-2" + 12 02D20)  6(13+ 12) = 114. Similarly,
k=1
2" n
lim f1/)n(:c) de = lim Y [2- (44 6k/2") +5]- (6/2") = lim S (1327 4 12. ZHCTH) — (13 4 12) — 114,
10
Since the limits agree, Darboux’s Theorem guarantees the Riemann integral exists and is the common limit: R- [ 2z + 5 dz = 114.
4

2Remember: as we study Riemann integrals, we assume f is bounded on [a, b], and so the infima will exist.
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Exercises.
1. Find the step-function sequences {¢,,} and {1),,} from the standard construction and its dual sequence for the function f(x) = 3z + 1
on the interval [0, 2]. Note f is continuous and therefore (as the Riemann-Lebesgue Theorem implies) Riemann integrable. Evaluate

| ¢n and [ 1), as closed-form expressions in n, and show lim [ ¢, = lim [ 1),. Then use Darboux’s theorem to find the value of

R-f02 3r+ 1dzx.

2. Repeat the last exercise, but use f(x) = 22 on the interval [1, 2].

3. Determine points of discontinuity for f(z) = (z — 1)(2? 4+ 5z + 4)/(z* — 1). What does the Riemann-Lebesgue theorem say about
/7 Use that theorem to find R-fi(l)o f(x) dx.

14



2.2 Properties of the Lebesgue Integral

Key Concepts
1. monotone sequence of functions

2. limits of integrals When can you pass a limit through an integral and get an equal value? When using the Lebesgue integral, the

Monotone Convergence Theorem provides one setting. But when using the Riemann integral, equality is not guaranteed.

3. the truncation method create a monotone sequence approaching any nonnegative function f by truncating f at z = n.

The Monotone Convergence Theorem (Beppo Levi): Assume {f,} is a monotone sequence of functions in L', where the integrals

collectively satisfy | [ f,| < M for some finite upper bound M. Then the sequence { f,,} converges a.e. to a function f in L', and

Sl S =] 0= Jin ] I

Examples. 1. Use the monotone convergence theorem to find fooo e Td.

Solution: Truncating a nonnegative function at z = n to form a sequence function f,, always produces a nondecreasing (monotone)

sequence, because fy,(z) = fn+1(z) forz < noraxz > n+1 (where both functions equal 0), and f,,(x) = 0 < fy11(z) forz € (n,n+1].

This truncation method applies here: set f,,(z) = ¢~ * forz € [0,n]and f, (z) = 0 forz > n. (Equivalently, f,,(x) = Xjo,,)(z) 7))
=1

By the Monotone Convergence Theorem, fooo e ?dr= [ lim f, = lim fon e ?dr= lim —e™7 ’g = lim 1—e™" .
n—oo n—oo n—oo n— o0
. .. 1 T =a1,02,...,0n
2. Enumerate the rationals on [0, 1], writing them as a1, az, . . .. Define f,,(z) = What does the Monotone

0 elsewise
Convergence Theorem say about the integrals of this function sequence? Does that result hold if the Riemann integral is used instead of

Lebesgue?

Solution: The sequence f,(x) is monotone on [0, 1] because f,,(x) = fn41(z) for all x except at © = ap41, Where fp(an41) =0 <
1 = fn41(an+1). By the Monotone Convergence Theorem, [ f = [ lim f, = lim [ f, = lim [0 = 0, because each f, equals
zero a.e. (except at a finite number of rational values). Of course, the lir;iT ?ﬁnction 7}&0)0 = lim }:(;O) is the Dirichlet function, because
it equals 1 at each rational and O at each irrational. The result does not hold if we were to gszofhe Riemann integral instead. In fact, we
have seen that the Dirichlet function is not Riemann integrable, even though the Riemann integral of each f,, is (each f,, is continuous

except at a finite number of rational values, hence is Riemann integrable by the Riemann-Lebesgue Theorem). It is then easy to realize
that R-[ f, =0,butR-[ f# 0= lim R- [ f,.

Other Important Theorems. 1. Riemann integrable functions f often have Riemann (definite) integrals found using the Fundamental
Theorem of Calculus, by finding the antiderivative and evaluating at the integrand endpoints. Any such function is also automatically
Lebesgue integrable, and so the Fundamental Theorem applies the same way to find the Lebesgue integral of f. Actually, there is a

FEO

slightly more general version of the Fundamental Theorem for the Lebesgue integral: ,’t%(’ e
The L' Fundamental Theorem of Calculus: For f in L'[a,b], define F(z) = [ f(t) dt for € [a, b], and F(z) = 0 elsewhere.

A. Then F'(x) = f(z) at a point = € [a, b] where f is continuous.?

B. If f is continuous on [a, b] and F' is now any antiderivative of f (i.e., F'(z) = f(z) on [a, b]), then f: f(x) de = F(b) — F(a).

T . . . T . ™ . . . .
For example, fo sinx dz is easily evaluated as fo sinx dr = — cos x’ o = cos0 — cosm = 2. Of course, when finding antiderivatives,

just as in Calculus, techniques such as u-substitution are helpful and important.

3The derivative and continuity at the interval’s endpoints a and b are understood to be one-sided concepts. For example, F’(a) refers to the right-hand derivative,
where the limit of the difference quotient (F'(a + h) — F(a))/h is taken by considering only values of A that are positive and tending toward 0. Similarly, continuity of

f atb means, given € > 0, there exists ¢ such that | f(z) — f(b)| < e whenever 0 < b — = < § (in other words, we consider only x values to the left of b).

15



2. Integration by Parts: Assume the functions u and v are in L'[a, b] and the functions U and V are defined, for any = € [a, b], as

x x b b
U(z) = [u(t)dt+ Crand V(z) = [v(t) dt + Cs, where Cy and C; are arbitrary constants. Then [U v ="U - V’Z - [Vu

For example, f12 xInz dx is easily evaluated using U(z) = lnz and v(z) = x.
¥ A2 T

W

w

Exercises.

1. Use the Fundamental Theorem and/or Integration by Parts to evaluate the Lebesgue integrals:

@ [, (2 +5)° dx

ul = &K‘f
dus Ay A= %pqll

&

x=t G| 7
% S w - %&Lix*ﬂ \o T
A;O
T
T .
(b) foﬂxsinxdx = E%CDS¢+ smx]‘ﬂ = (ﬂwom*mﬂf "“Oj =

+ X SR

- —Cced %

+O — s X

0 e
2. Apply the Monotone Convergence Theorem to evaluate f2 r 2de. T —= ~¥X

C_oﬂ/%‘-oo\ﬂf S(-P\/\ [ 2,240\ — R

Lt
W g‘ﬂf 5 Cda g7 vo v
/L'“"' 7\ ZM+'

veke (4, = §xde <) (A, e
L 2

tem 5 WW\W«\@MY ;Mw%a.&g

L

Ao ek Hook ';‘gﬁp Y = l;@y(%—%\) -5
SL”:;“(V\ M i S%\ ,,_%\

W90
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2.3 The Lebesgue Dominated Convergence Theorem

Key Concepts
1. dominated sequence of functions A sequence { f,,} is dominated by a function g € L' when |f,,| < g for all n.

2. limits of integrals When can you pass a limit through an integral and get an equal value? When using the Lebesgue integral,
the Lebesgue Dominated Convergence Theorem (LDCT) provides a setting in addition to the Monotone Convergence Theorem

(discussed in the last section). But when using the Riemann integral, equality is not guaranteed.

The Lebesgue Dominated Convergence Theorem: Suppose { f,,} is a sequence of functions in L' that converges almost everywhere
to a function f. Also suppose the sequence functions are dominated by an integrable function g, in the sense that | f,,| < g for all n,

where g € L. Then f € L' and its Lebesgue integral can be evaluated by passing the limit through the integral:

A J = S = T

Example.

Write lim fln cos(z1)/x? dx as a Lebesgue integral of an integrable function, without a limit sign. Find the integral’s value.
Solution: Define f,(z) = X n)(z)cos(z~')/z?, which is integrable because it is continuous a.e. and dominated by the inte-
grable function g(z) = 272 - Xjgle)(2). By the LDCT, lim [|"cos(z™!)/2? dz = [ cos(z™!)/2? dx. Substitutingu = 27!,
lim fll/n cosu du = nllngosinuyi/n =sinl —sin0 = sin 1.

n—oo

Exercises. 1. Use either the Monotone Convergence Theorem or the Lebesgue Dominated Convergence Theorem (LDCT) to evaluate
lim fol (1+z/n)—2" cos (z/n) dx. Make sure you justify your use of your choice of Theorem.

(Hint: lim (1 4+ x/n)%" = e 27)
&— 00

w

) Si g’g"‘cos(ﬂ&r - Sﬂ' e"«ﬂha %’[IO _ LZ[!»c‘l)

2. Use the LDCT to evaluate fooo e~ " cos x dx. Make sure you properly justify use of the theorem.

17
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I 2 iy ’J__J,_T’ "
2.4 Fourier Series |15\ 4‘,}( L :?1(?00) ix) e |IFl, =7 ’TS, Fdw .

. - [~ eos 2)hx
Key C t 7 M guu smv= 4 Cos (u~v) - (as{uw) e lS-"*' : S(
ey OIICep S S ﬂu S ?:_{7 S-.qlu\ = %_( |-.¢051K7 ——:1"!' X- s,h;‘,‘]_‘ﬂ

1. Trigonometric Series A finite or infinite sum of terms that are constant multiples of sin nz or cosnx, n = 0,1, 2, .. .. Such series Ve
naturally represent a function periodic with period 27, and so they are naturally studied over the interval [—7, 7| and repeated

periodically over other intervals of length 27.. Dasié yechovs:
2. Series Coefficients In a series, the constant multipliers of the trigonometric functions. { %} Lo X, 8t ¥y o3 Be 302X (a3 Sndp

3. Bounded Variation f is of bounded variation when it can be expressed as the difference g — h of two nondecreasing bounded
. . dock
functions. e 7 15,9 30 L Sm’a‘p g
4. Convergence of Fourier Series When does a Fourier series of a function converge, and to r\xliat value does it converge‘7 S (‘M«r“f
S A Vo tydx= O
Definitions. < Sihx, CosX) = XS. (Deasly)

1. The (classical) Fourier series is of the form ag + Z an COSNT + by, sin n:%l and is often called a trlgonometrlc series because its
n=1
components are sine and cosine functions. Writing a function f(x) as a Fourier series gives insights into the function’s behavior and is

important to describe many physical properties in the world around us.

2. There are formulas for a function’s Fourler coefficients ag (the constant coefﬁ01ent) an and b, forn = 1,2, 3,.... These are, for a

function f:  ag = 5= f f®) dt,a, =+ f f(t) cosnt dt, and b, = L f f(t)sinnt dt.

3. The (nth) Dirichlet kernel is the function D, (z) = 1/2+ > coskxz, z € R. The Dirichlet-Jordan Theorem then says: When
k=1

f € LY(—=, ) is periodic with period 27 and, for x € R, has boanded variation on an interval [x — h, 2 4+ h|, where 0 < h < 7, then

the Fourier series of f converges at = to

Jm (f(z +6) + flz —1))/2.

_T
Example. Find the Fourier series for f(z) = x,# < « < m (and where f(x) is repeated periodically over other intervals of length 27).

. T 2 T .
Solution: ag = 5= [ tdt = %%[ﬂ =0,a, =1 [ tcosntdt =L (tsinnt+ %cosnt)[7T =0, and
—1T —1T
b= [ d = 200" forn =1,2
n =21 [tsinntdt = -L(—tcosnt+ 1 smnt)’ ="—p—forn=1,23,....
—1T
. . .o . . 2 . = —1)ntt
From the Fourier series formula, the series is then 2 sin x — sin 2z + 3 sin 3r—...=2 ~— sinnx.
n=1

/W‘.Lf W*‘é 0(1 stam VD gumn 070 'wa!.u- coted

Exercises.
1. Find the Fourier series for f(z O)» 1,z € (—m, .

Uy - K900, ey = g ] R ) - 33‘—co>(l<1§~;}yﬁu]

T + ¥ N | os Ry 77 00 o )
\ (2 - wm eo” . (nx
= 71,?[ SK ces Kx &X +;\ufi:;,m N X [ + i T 1 cos
u \-..J—i_ g Bn =

e
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2. Show that f(z) = z* + 1, z € (—m, 7] satisfies the hypotheses of the Dirichlet-Jordan Theorem. In other words, show f(z) =

2? +1 € LY(—m, ) and is of bounded variation.

3. What does the Fourier series (from Exercise 1, above) for f(z) = 22 4+ 1, z € (—m, 7] converge to at z = 0? What about at z = 7?

4. From the Example and the answer to Exercise 1, above, what can you say is the Fourier series for f(x) = 22 + x4+ 1,z € (-7, 71]?

(4)"“
n

o [
sm[uﬂ -(—( \_(. ’Li (-_")Icos ny
n=t W

S - (@) ex =22
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Practice Test on Chapter 2

1. Prove Theorem 2.2.4: If f € L', thensois |f|, and | [ f| < []f].

x

2. Use the Monotone Convergence Theorem, u-substitution, and the Fundamental Theorem of Calculus to evaluate f Eoo m dzx.
T

Make sure you justify the use of the Monotone Convergence Theorem.

3. This problem studies the Riemann integral of f(x) = 2% + 1.

a. Give a simple property of this function that guarantees its Riemann integral from 0 to 2 exists and is finite.

b. Use the standard construction to evaluate the Riemann integral R- f02 2% + 1 dx, explicitly giving o, (z) and 1, () that form the
sequences of step functions you use, and then evaluating lim,, .o | ¢, (2) dz. (You do NOT need to evaluate the limit of the integrals

of the dual sequence v,,.)

4. Use the Lebesgue Dominated Convergence Theorem and integration by parts twice to evaluate fooo 2e~ " cos x dx. Make sure you

justify the use of the theorem.

5.Evaluate, justifying each step, the following limit: lim fooo(l +nz?)(1+ 2?)™" du.

6. Find the Fourier series for f(x) = |5z| (as it is defined on the interval (—, 7] and extended periodically with period 27 off of this

interval).

20
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Chapter 3

Function Spaces

3.1 The spaces L”
Key Concepts
1. metric space - a set with a concept of distance (norm) satisfying certain properties
2. Banach (Hilbert) spaces - normed vector spaces that are complete (with an inner product), specifically the L spaces
3. nonmeasurable sets - and properties of measurability \-\) l',l/vu'\(') o\ Cmcﬂ'f Segil ety Conlee "‘j/ ’ 1%" <
4. measurable functions and their connection to measurable sets ) l ! ( e , wmm)
5. the mid function and its application to proofs on LP spaces L . m . Y H:(b&r SPM
6. Holder’s Inequality and the Riesz-Fischer Theorem l/€ ot @MML SYOAC&S
3.1.1 Measurable Functions

A Nonmeasurable Set—the Vitali Set (See [3, p. 127]) The Lebesgue measure of a set requires the following three properties:

1.

2.

The integral of a characteristic function | X4 must equal m(A) for any set A

Countably Additive: For any two disjoint sets, m(A) + m(B) = m(A U B); in fact, we require such a property holds for any

countable number of disjoint sets.

Translation Invariance: For any set A, m(A) = m(A + t) for a set A and real number ¢, where A + t is the translation set of A,
definedas A+t ={a+t:a€ A}

If a set breaks any one of these, the set is nonmeasurable. Its characteristic function X4 will then not behave well in terms of the

integral; it is a nonmeasurable function. An example is the Vitali set V':

1

2

3

4

5

. Partition the interval [0, 1] into an uncountable number of subsets

. Two numbers v and w in [0, 1] get into the same subset when v — w is a rational number. (e.g., Q@ N [0, 1] form one subset.)
. Every value in [0, 1] is in exactly one of the subsets.

. Choose exactly one element from each of these subsets, and collect the choices into a set V.

. This set is not measurable!

21



To see why there is a problem:
1. List the rationals in [0, 1] as s1, S2, 83, - - . -

2. Take any one of these numbers s; and form the set S; = {s @ s; : s € V'}, where

5+ s; ifs+5; <1
5®s;j = .
s+s;—1 ifs+s; > 1
3. The modular sum makes 0 < s+ s; < 1, and so each .S is a subset of [0, 1].
4. Each z € [0, 1] is in exactly one S;. (Can you prove this?)
Putting the previous points together implies

0,1= U S;

j=1
for disjoint sets S;. Each set S; is a translation set of V, and so by translation invariance we should have m(S;) = m(V), j =

1,2,3,... . Then by countable additivity, we should have
J:

L= m(0.1) =m(J $) = X m(s)) = 3 m(v).

No matter what measure we might assign to m(V'), we have problems. If m(V') = 0, then this equation would imply 1 = 0. If m(V)
is a positive or negative value, then the summation does not converge to a finite number, and so there would be no way for it to equal
1. It’s impossible for the set V' to have a correctly assigned measure. V' is a nonmeasurable set. And then the characteristic function

f(z) = Xy (z) is nonmeasurable, because [ Xy (z) dz = m(V') does not exist. Since m(V') is badly behaved, so is Xy . [ |

Our goal this chapter to is to consider spaces of functions, specifically measurable functions:
Definition: A function is measurable if and only if for every measurable set S, the preimage f~1(S) is a measurable set.

Now we see the problem: the Vitali set V' was the preimage of 7' = {1} under the function Xy. T is measurable (it has measure
zero), so f~1(T) should be measurable, but itisn’t. A function f that has this problem will not integrate correctly. These badly behaved

functions are the nonmeasurable functions.

Which functions are measurable?

Remember that we previously defined the space L as
LY = {f : there exists a sequence of step functions ¢,, such that ¢, — f a.e. and / f=Ilim / On < 00},

and then L' as the set of Lebesgue integral functions, i.e. L' = {f : f = g — h with g, h € L°}.
Now we want to characterize this set in terms of measurable functions. From the previous section, we see that not even all of the

characteristic functions are measurable. How do we determine which functions are measurable, other than the definition?

Definition: For real valued functions f and g with g > 0, the function mid{—g, f, g} is defined as having the unique range value

chosen from the three output values —g, f, g (not necessarily distinct) that is between the other two.

Definition: A real function f is measurable if and only if mid{—g, f, g} € L' for every nonnegative function g € L'.

22



Exercise. Use the mid function to prove the following properties.

Theorem: For any real-valued function f:

—

. If f is integrable, then f is measurable.

2. If f is continuous, then f is measurable.

3. If f is measurable, then so is | f|.

4. If f is measurable, then so is | f|P Vp € N. hut ols. ¥ A 20
5. If f is measurable and |f| < g for g integrable, then f is integrable.

6. If | f| is integrable, then so is f.

23



3.1.2 Definition of L”

The space L' has several properties:

1. Itis a vector space - if you add two functions in L', or multiply by a scalar, you stay in L.

2. It is a metric space - the norm given by || f|| = [ |f| gives a sense of size (similar to absolute value) for functions. Similarly,

IIf — g|| is the distance between two functions.

3. Itis a Banach space, because in addition to the first two properties, it is complete: for any sequence of functions f,, belonging to

LY,if || f, — f|| — 0, then f € L. This means you can’t “leave” the space through limits of sequences of functions.
L'= ? o b o wsswradle IR - Sl?ld}A 400}
\
p

LP = {f: f is measurable and || f||, = ( |f|p> < oo}

Definition: The space LP forreal p > 1 is defined as

LP spaces make no distinction between two functions that are equal almost everywhere. All LP spaces are Banach spaces; L? is
additionally a Hilbert space, because its norm is given by an inner product, where (f,g) = | fg. (See next section for Hilbert space
properties.)

Exercise. This is a different definition of L than before. Can you prove that these definitions are equivalent?
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L

3.1.3 L” spaces are complete 0 m [/ ;[/? (Jfﬂpd /ﬂ T { wj

Example: Vn € N, define f,,(z) = e, where 0 < 2 < n (and f = 0 otherwise). Is f,, measurable for each n? What are the L' norms L

of f,,? Does f,, converge as a sequence of functions to a function in L' norm (not pointwise)? What is the limit, if so? Does this always

work? {‘9 (Y)SW Pointuse S 6—7" ?m‘)d‘l—.ts 0’? Movrnas
t e (0,00) U Mp> O, wd MEllp=0e> T =0

2 l(cfrﬂ = lelUFle
{” $MCX)/R'“?jM:l — O [Q“H/'p £ "P(”p"‘”g"f'

S | - l}dy"‘”f e dx 5

T e
t . ‘1 N 6 [ 0w } [U'M)
Lemma 3.1.2: Let f;, € LP for k = 1,2,3,... . If Y || fx|| converges as a real-valued series, then > f;, converges to a function g in
» o
LP. Moreover, Y fr(x) converges to g(z) pointwise for almost all z. Hﬁ uuts vaiwb "/

Y18l L5ty Ugly e Lty

The Riesz-Fischer theorem: If { f,,} is a Cauchy sequence of functions in an LP space with p > 1 (so that, given € > 0, there exists N

so that || f,, — fm|lp < € whenever m,n > N), then f,, converges to a function f € L” in the LP-norm limit.

LA 53 be o Guoly spoe  [oh e 27 fac temps o jue oo bud Mot ol
NK<|\/M ,S\w‘/\‘f’u
HR’?M‘:UﬁQ’ Y w2,
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3.2 Hilbert Space Properties of L and (>

Key Concepts
Definition. The inner product of two functions f and g in L?(a,b) is {f, g) f f(z ) dz. (The inner product on L?(R) is
= 2% f(2)g(z) dz.)

Having any kind of inner product gives a Hilbert space quite a few interesting properties:

1.

2.

8.

Properties of the Inner Product on any (real) Hilbert Space

For vectors f, g, h € H and real constants a and b:

=117
(f, f) > 0 and equals 0 only when f =0
<.fag> = <gv f>

<6Lf + bg, h> = a<fa h> + b<gv h>

(Schwarz Inequality) [(f, ) < [Lf] - ll4]

(f,9)
I £1llgll

(Angle between vectors) cos ) =

(The Pythagorean Theorem) If two L? functions f and g are at right
angles, then || f||* + [[g]|* = [If + gl*

(Parallelogram Law) || f + g[|* + [[f — gl = 2| fII* + 2/lg]|®
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Exercises

1. Find the inner product of f(z) = 322 + 1 and g(z) = 2z on L?(1,3). Also find the angle between the vectors. What linear
function in L?(1, 3) is perpendicular to f?

2. Prove the Schwarz inequality for an arbitrary L? space.

3. Use inner product properties 1-4 to prove the Pythagorean Theorem and the Parallelogram Law.

4. The Hilbert space ¢? is the collection of infinite sequences (vectors) v = (ag, a1, as, ...) such that ||7]|? = Z;io laj|? < oo. £%is
a complex Hilbert space, meaning that vector entries can be complex numbers. The inner product is then conjugate-linear in the

second coordinate: if v = (ag, a1, as, ...) and w = (b, by, ba, ...), then (v, w) = Z;io a;b;.

Prove that for complex « with |a| < 1, that K, = (1, o, a2, ?, ...) belongs to £2 and compute its norm.
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3.3

Orthonormal Basis for Hilbert Space

Key Concepts

1.

2.

3.

A orthonormal basis for a Hilbert space

The Gram-Schmidt process for generating an orthonormal basis

The Laguerre polynomials that give an orthonormal basis for L?

The Projection Theorem that allows a Hilbert space to be decomposed into subspaces
An isometric isomorphism between Hilbert spaces to show they are equivalent

Parseval’s identity established by the isometric isomorphism between L? and /2

3.3.1 A Vector Space Basis

Inquiry. How do you break a vector in R3 into “pieces”? How could I do the same with a vector in £2?

Definition. A set of elements {b,,} in a vector space equipped with an inner product is orthogonal when (b,,, b,,) = 0 for two

distinct elements b,,, and b,,. An orthogonal basis for a Hilbert space H is a set of orthogonal elements {b,, }, where each b,, € H has the

property

The basis is orthonormal if, in addition, each basis element has (b,,, b,) = 1. The (well-defined) dimension of the Hilbert space is

For f € H, if (f, b,) = 0 for every vector b, in the set, then f = 0.

the cardinality of any of its orthogonal basis sets.

Inquiry. How would you suggest we find an orthonormal basis for L2?
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3.3.2 The Gram-Schmidt Process

Gram-Schmidt Process. The Gram-Schmidt process consists of the following algorithm performed on a given finite set of vectors

{905+ -gn}:
Start by letting fy = go.
Then set f; = g1 — ngl‘ollg fo-
— (92,f1) 2,fo)
Next, f2 = g2 = Ff# fu — Ff fo.
Continue this process until fy, ..., f, have been defined (the same number of functions as the number of separate functions g in the

original set). At each step, use the rule

— g — o lgido)
fi =95 = el fi = Sl e — = SRl .

Exercise. Prove that the Gram-Schmidt process gives a set of mutually orthogonal vectors.

Exercise. Use the Gram-Schmidt process on the collection of L?(0,0c0) functions {go, g1, g2, g3} Where g,(z) = x"e /2 to

generate a set of orthonormal functions {eq, e1, €2, €3}. These are (weighted) Laguerre polynomials.
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The Gram-Schmidt process can continue indefinitely, but not does not always create a basis when applied to a countably infinite

collection of functions. The Laguerre polynomials do form a basis for L2(0, 0o) and can be defined directly as

e Ly(z) = L(L)"(a"e ™), n=10,1,2,...,

n!

Exercise. Show that the Laguerre (unweighted) polynomial e; obtained from the previous exercise matches this definition up to a

scalar constant. In other words, show eje*/2 = ¢, (z). Then do the same for e; and Lo ().

3.3.3 The Projection Theorem

Definition. The linear span of a collection of functions go, g1, - - ., gn is the subspace of a vector space given by every linear combination

of those elements, i.e.
span{go, g1, ---,9n} = {aogo + ...+ angn : a1,...,a, € R}.
Best Approximation. Given a function f in L2, there exists a best approximation to f that is in the (closed) linear span, M, of a

collection of functions g, g1, - - -, gn. The best approximation to f by an element g in M is the one that minimizes the value of || f — g||,

and this is given by

g=cofo+cifi+ ...+ cnfn, where ¢; = <|f.]; J|CJ'2> , and where the functions fo, ..., fn
J
are produced when the Gram-Schmidt process is applied to {go, g1, - - -, gn }-

This also means that (f — g, h) = 0 for every h € M. The set of elements in the vector space that, like f — g, are orthogonal to all
elements of M, are denoted M. The best approximation g is the orthogonal projection of f onto M.

Exercise. The function f(r) = 2%,0 < z < 1, isin L*(0, co). Define a subspace

—xz/2

M = {apgo + a191 + a2g2 : ag, a1,as € R} with g, (z) = z™e ,n =0,1,2. We determine the best approximation to f(z) in M

and write f = g + h, where g € M and h € M*.
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The Projection Theorem. If M is a closed linear subspace of L?, then f € L? can be uniquely expressed as f = g + h, where
gEMandh e M+,

Exercise. Prove the Projection Theorem.

Exercise. In L?(0, 1), define M = {g(z) = co+c1x}, where co, ¢; € R. Use the projection theorem and the Gram-Schmidt process
to describe M.
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3.3.4 Equivalence of Hilbert Spaces

Sometimes, there is a complete identification between two Hilbert Spaces, similar to a group isomorphism or a continuous bijection
between topological spaces.

Definition. A Hilbert space isomorphism is a one-to-one linear map 7" from one Hilbert space  onto another K that satisfies
I7(h)|l < = ||P|l,,- When such an isomorphism T exists, we say H and K are isometrically isomorphic to one another.

Exercise. Prove that a Hilbert space isomorphism 7" from a Hilbert space H to another /C satisfies

(T(9), T(h))c = (g, ), forg, h € H.

Exercise. Use the (weighted) Laguerre polynomials to construct a Hilbert space isomorphism between L?(0, c0) and #2, and prove
that they are isomorphic.
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10.

Sample Test Problems for Chapter 3

. Find the angle between 1 — z and 22 in L?[0, 1].

Prove that the sequence of vectors «, in [2, where a,, = (1, a, 02, ..., ", 0,0, 0....) for some real a, 0 < o < 1, is Cauchy in 2.

L and prove your answer.

Find the L?-norm limit of the sequence f,,(z) = 2%:6 +1—-5%

Show that if equality is attained in the Cauchy-Schwarz inequality for two vectors f, g, then they are linearly dependent.

. Use the Gram-Schmidt process to convert the set {1, z, 2?} into three mutually orthogonal vectors on L?[0, 1].

. Prove that if f € L?[0,1]and g € L3[0, 1], then fg € L5/°[0, 1].

. Let k € N be fixed and given. Prove the function sequence f,,(z) = z* /n, where n = 1,2, 3, ..., converges to f(z) = 0 in the

L?(0,1) norm.

. Prove the Riesz-Fischer Theorem: If { f,,} is a Cauchy sequence of functions in an LP space with p > 1 (so that, given e > 0,

there exists IV so that || f,, — fm ||, < € whenever m,n > N), then f,, converges to a function f € L” in the L”-norm limit.
In your proof, feel free to use Lemma 3.1.2: Let f, € LP fork = 1,2,3,... . If Y _ || fx|| converges as a real-valued series, then

> fx converges to a function g in LP. Moreover, Y . fx(z) converges to g(x) pointwise for almost all .

. Prove the Pythagorean theorem holds in L?(0, 1) for the functions f(x) = 2 and g(z) = 3z* — 9/5. Exhibit the values for || f||?,

llgll. and |[f + g]|*.

For f(x) = 1 and g(z) = v/ — 1, find the values of the inner product (f, g) and the norms || f|| and ||g| in L?*(1,5). Then
determine an approximate radian measurement for the angle between f and g, as the functions are thought of as elements of
L2(1,5).
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1
z

is an element of ¢2. b. Did you love Taylor series from Calculus 2?

11. a. Show, for complex z with |z| < 1, the vector k. = ji

> [af . o . . .
(Answer yes or no, and give a simple reason why.) Then suppose f = [aé} € (2. Find an infinite series representation for its /2
1

inner product with k.= ;i , where z € R has |z| < 1.

12. a. Give simple reasons why:

i. The function sequence f,,(z) = Xjo.,)(z)e”, where n = 1,2, 3, ..., converges pointwise at every = € [0,00) to f(x) = e”.

ii. Each element of that function sequence is in L' (0, 00).

iii. The function sequence does not converge to f(x) in the L'(0, o) norm.

b. From this example, what can you conclude about pointwise convergence and strong convergence?

13. (Take-Home problem?) Find a sequence of functions that converges pointwise YV € [0, 1] but does not converge in L?[0, 1]-norm.
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Chapter 4

Measure Theory

4.1 Lebesgue Measure

Key Concepts
1. Definition of Lebesgue measurable set
2. Properties of Lebesgue measure
3. Other definitions of measure
4. Other examples of measure

Definition. A set S in R is Lebesgue measurable when its characteristic function Xg is a measurable function. In this case, we

define the Lebesgue measure of S, denoted m(S), as

whenever Xg € L. If X5 is not Lebesgue integrable, then we define m(S) = cc.
Examples. Let () be the empty set, C be the Cantor set and V' the Vitali set.

L. m([a,b]))=b—a

2.m(0)=0
3. m(C)=0
4. m(V) =00

4.1.1 Properties of Lebesgue measure

Although not every set is measurable, the following theorems show that measurable sets can be combined through union and intersection.

Theorem. If S and T are Lebesgue measurable sets in R, then so are S U 7T and S N7, and
m(SUT)=m(S)+m(T) —m(SNT).
Theorem. Suppose S = U Sp, where S, is a measurable set. Then S is measurable with
n=1
m(S) < > m(Sy).
n=1
If in addition the sets S,, are disjoint, so S; N Sy = () when j # k, then

m(S) = > m(Sn).

n=1
Inquiry. In Section 1.2, we said that m(S) = 0 when S can be covered with a sequence of open intervals I1, I3, I3, ... whose

bounded total measure Y m([,) is arbitrarily small. Are these definitions equivalent? Can you prove it?
n=1
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4.1.2 Other Ways to Define Measure

The Lebesgue measure is not the only possible measure on sets. Here are listed of desired properties for a measure.

1.

2.

Universality: the measure of any real set to be properly defined.

Countable Additivity: the measure of the union of a countable number of disjoint sets to equal the summation of the measure of

each.
Length Agreement: for any interval I, the measure of I to equal its length.

Translation Invariance: the measure of any set E to equal, for any given real ¢, the measure of the translated set £ + ¢ = {zx 4 c:
x € E}.

Lebesgue measure accomplishes 2, 3, 4, but not 1 (the Vitali set is not measurable).

Example A unit point mass measure m,, is defined for a real number (the “point”) p. For a set .S, if p € .S, then m,(S) = 1, and if

p ¢ S, then my, (S) = 0. The measure of every set S is defined, and so m,, satisfies the property of universality.

For example, let p = 1/2. Depending upon whether or not 1/2 is in the set, its point mass measure at 1/2 is either 0 or 1. So
my/2(R) = 1, my2([0, 1]) = 1, my /2([=10, 10]) = 1, mq 2([3,4]) = 0, and m /2(C') = 0 for the Cantor set C' because 1/2 ¢ C. You

can see my /o does not satisfy the property of length agreement.

Question. Is an arbitrary point mass measure m,, countably additive? Is it translation invariant?

Remark. No measure can satisfy all four properties! Proof as follows:

1.

2.

3.

Assume all four properties apply to an arbitrary measure m.

Define arelationon [0, 1): @ and bin [0, 1) are related if a — b is a rational number. (E.g., all rational numbers in [0, 1) are related.)
Choose one number from each equivalence class and put them together into a set S.

Enumerate the rationals in [0, 1): {0, 71, 72,73, .. .}.

Consider the sets S;, = {s+7r,: s€ S},n=0,1,2,....

(Notice S = Sy, and the S,, are mutually disjoint.)
Note [0,1) = fjo Sp.Som([0,1)) = 3 m(Sn).

n=0

Note m(Sy,) = m(S) for each of the sets .S, by translation invariance.

What’s the problem?

Inquiry. Get in three groups and invent your own measures! One group should find a measure that satisfies principles 1, 3, 4, and

not 2. The next group, find a measure that satisfies 1, 2, 4, and not 3. The last group, find a measure that satisfies 1, 2, 3 and not 4.
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4.2 Integrals with Respect to Other Borel Measures.

Key Concepts
1. A o-algebra of Borel sets
2. A Borel measure on a o-algebra of Borel sets
3. More examples of Borel measures

4. The Lebesgue integral with respect to a Borel measure

Definitions.
1. First, form a “o-algebra of Borel sets B”:

e Start by putting all the intervals of R (including R, single-point intervals of the form {z}, other infinite intervals, and the
empty set) into B.

e Then add into B all of the sets formed as countable unions, or countable intersections, or complements of these intervals.

e Then add in all of the sets that are countable unions, intersections, or complements of anything already in B.

e Continue, forming B as closed with respect to countable unions, countable intersections, and complements.

In this way, a o-algebra is a collection of sets I3 where every union or intersection of a countable collection of sets in B, along

with any complement, is again in B.

2. Now you can define a general (not just Lebesgue) measure p on each set in the o-algebra B. We call such measures a Borel

measure. A measure is technically a function p : B — [0, oo], defined on all of /3, with three main properties.

(a) It is defined for each interval of R, with the measure of the empty set 1(()) being zero and (so the measure is not trivial or
always infinite) at least one interval having finite nonzero measure.

(b) It is countably additive, so p(UBy,) = > u(By,) for a countable number of disjoint sets B,,. (The fact that we are working
inside a o-algebra assures us—whenever each B,, is a member of 5—that UB,, is also a member of B.)

(c) We insist 4 is defined so it is finite on any closed and bounded set, which means x is defined so it is finite on every closed

and bounded interval.

3. The Lebesgue Integral with Respect to a Borel Measure pi: Take a Borel measure p, which has a measure (1) for any interval
1. Then:
(i) The integral with respect to y of the step function ¢(x) = > ¢; - X, (x) is
Jj=

J ola) dule) = 32 ¢ (1)),

This integral is also denoted [ ¢ dpu.
(ii) If a nondecreasing sequence of step functions {¢,, } converges u-almost everywhere (except possibly on a set S with p(.S) =

0) to a function f, then the integral of f with respect to p is
[ fdu= lim [ én(z) dp(z).

If the integral is finite, then f is said to be in the collection of functions L°(u).

(iii) Whenever a function f can be written as f = g — h, where g, h € L°(u), then
[fdu=[gdu— [hdp.

Such functions f are said to be in the function space L' (1).
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Example. Point Mass Measure: First define . on an interval like this:

Pick a real number k as a “weight.” Then p,(I) = k for any interval I that contains a given point p, and y,,(I) = 0 for an interval I

not containing p. This measure turns out to produce 1, (.S) = 0 precisely when .S does not contain p. The measure generates an integral
n

of a function f with respect to 1, that, essentially, evaluates f at p and then multiplies by k. Forif ¢ = ) ¢; - X7, () is a step function

Jj=1
(without loss of generality, we may assume the intervals I; are disjoint), then [~ ¢(z) du(z) =

o8

cjpp(li) = > ¢k =
{s:pel;}

1
> ¢j k- X, (p) = k- ¢(p). Working through the rest of the three-step process, we get [~ f(z) dup(z) = k- f(p) for f € L' (up).
j=1

J

Problems.

1. For an interval I, calculate [ X7 dy, where p is the point mass yo = 31 /2. Hence, for an interval I, pu(I) = 3puq/2(I) = 3 if
1/2 €1, and u(I) = 0if1/2 ¢ I.

2. What is fX[O,Q)U(5,12) d/,L{7

3. Whatis [ X¢ dp, where C is the Cantor set?

4. For a real-valued function f whose domain includes z = 1/2, calculate [ fdp.
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Example. Absolutely Continuous Measure. An absolutely continuous measure (with respect to Lebesgue measure), which we
call v, produces an integral of the form [ g dv = [ g(x) - w(x) dx, where the function w is measurable and takes on only nonnegative
values, and dx refers to Lebesgue measure. The function w is sometimes called a weight function or a density function. It turns out
v(S) = 0 exactly when S has Lebesgue measure zero. Here’s an example, where we use the three-step process to construct the integral
with respect to a measure v.

We choose w(x) = e’ /+/7, and develop the corresponding integral. Before proceeding, we verify w is in L(IR) (w is measurable

because it is continuous). The square of the L? norm is
w3 = [ e /mde= [ e /(V2r)du=1/V2m.

Use w to define the measure of an interval I = (a, b), where a and b can be allowed to equal co or —oo:

(1) = 77‘0 Xi(z) - o= /\/7 da.

Any absolutely continuous measure having a given weight function w works this way. I

First, for a step function ¢(x) = Y ¢; - X7, (z), we have [ ¢ dv = > ¢; - v(I;).
j=1 j=1

Applying the formula for v(I), [ ¢ dv =Y ¢; - [[* X1, (x)- e~/ /7 dal.
j=1
Interchanging the finite sum and the integral sign, [ ¢ dv = [* (3 ¢; - X1, (x)) - e ) /7 de = [ () e )7 da.
j=1
The main point is that the integral of the step function with respect to v turns out to be the Lebesgue integral of the step function mul-
tiplied against the weight function w. This integral exists (so it is well-defined), because [~°_ () ~e*x2/\/7_r doz < [%_ ¢(x)/ /7 dw <
oo and the function ¢(x) - e /+/T is continuous almost everywhere.

Second, given a nondecreasing sequence of step functions ¢,, that converges a.e. (in the sense of v/, which is the same as in the sense

of Lebesgue measure) to a function f, the integral of f is

[ fdv= 1Lm [ o dv.

By the monotone convergence theorem,
[fdv=lim [ ¢p(zx)-e*//mde= [ lLim ¢p(z) ¢ /ymde=[f(z) e )7 dz.

In short, the integral is understood as the Lebesgue integral of f multiplied by the weight e’ /+/7. We say such functions f, producing
a finite integral, are in L%(v).

Third, when f can be written as f = g — h, for g and h in L°(v), then f € L*(v)and [ f dv = [ g dv — [ h dv. From the last
paragraph, we see [ f dv = [ f(x) - e=*" /\/7 dz for such functions.

Problem. Using the weight function w(z) = ¢~*" /\/T to form the absolutely continuous measure v so that dv(z) = w(z)dz, find
J ®X(0,00)(2) dv(z) and [ 2* dv(z).
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Example. Singular Continuous Measure: The integration process also works for singular continuous measures, constructed from
a function F that is singular with respect to Lebesgue measure. That means F”(z) = 0 a.e. and F is continuous. The associated Borel
measure pp is defined as pp([a, b]) = F'(a) — F(b) on any interval I with endpoints a and b, and the interval can be open or half-open
as well.

An example is the famous Cantor function F', which is constant on the complement of the Cantor set C'. The function’s growth is
supported on [0, 1], equals 0 for negative = values, and equals 1 for x > 1. For 2 € [0, 1], write « in its ternary (base 3) expansion.
For technical reasons that make this definition work, do not use a 1, when possible, in the expansion (for example, when representing
x = 1/3 we choose 0.02222 . . .[3] instead of 0.10000. .. . [3]). Next, replace the first 1 in the expansion with a 2 and everything after it

with 0. Finally, replace any 2 in the resulting expansion with a 1, and interpret the result as a binary number. That number is F'(z).
1P
784 L
3141 —_—
siat o
1 )
3/87 —
14 —
st —
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s 29 15 25 78 88 1
Figure 4.1: The Cantor Function is often fancifully called the Devil’s staircase.

Calculating F'. For example, 1/2 =0.111111...[3] in base 3 (there is no way not to use 1s in the expansion).

We replace the first 1 with a 2 and everything after it with a 0, obtaining 0.2000. . . .

Now we replace the 2 with a 1, obtaining 0.1000....

Interpreting that expansion in base 2, we get the resulting function value: F'(1/2) = 1/2+ 0/2% +0/23 + --- = 1/2.

Many values are easy to pick out of the graph visually; e.g., F'(1/3) = 1/2, F'(1/9) = 1/4,and F(7/9) = 3/4.

The associated measure on intervals follows. For example, ur([2/9,1/3)) = F(1/3)—-F(2/9) =1/2—-1/4=1/4, ur([1/3,2/3]) =
1/2—1/2 =0, and pp((2/3,7/9) = 3/4 — 1/2 = 1/4.

Exercise. Find [ = dup(x). (Hint: This shows how singular continuous measures can form challenging problems. See Exercise 4.2.25.)
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4.3 L*(p)

The Key Concept. A function is p-measurable when mid{—g, f, g} is in L' (1) for every nonnegative g € L'(u). The Hilbert space
L?(p) is then the collection of y-measurable functions f with finite L2 (1) norm, which is defined as || f|| = 1/ [ | f]? dp.

Exercises.

1. For a function f whose domain includes = 1/2 and for the point-mass measure ji; /o, define the L?(p1) norm of f to be

([1fI? du)l/Q. Calculate the L?(u) norm of f(x) = .

2. Describe the collection of functions in L?(p) when p is defined as the sum of two unit point mass measures j = fi /2 + po- Here,
f1 /2 is the unit point mass measure at p = 1/2, so for areal set S, 11/2(S) = 1if 1/2 € S and p1;/2(S) = 0if 1/2 ¢ S. The

point mass i is defined the same way, except the point mass is at p = 0.

(a) What real-valued functions are in L? ()? (Hint: such a function must be well-defined at 0.)
(b) Why is the space L?(u) two-dimensional? (Hint: describe it as the space of linear functions f(z) = ¢1(1/2 — x) + c22.)
(c) Why do the functions 1 — 2z and 2z form an orthonormal basis for L? (1)? (Note the normalizations of the elements.)

(d) How can you describe any function f in L?(p) in a Fourier series expansion of the form f = (f(z),1 — 2x) - (1 — 2x) +

(f(x),2z) - 2x?
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4.4 Probability

Key Concepts
1. An experiment is a general term describing an activity that can result in many different outcomes,

2. A sample space of an experiment is set of all possible outcomes. Many times because of simple probability formulas that are
especially helpful when the sample space is finite, probabilists try to express the sample space as “equiprobable,” where all the

outcomes have an equal probability.

3. An outcome of an experiment is the most fundamental type of result of the experiment. An event is a collection of outcomes—a

subset of the sample space.
4. A random variable assigns a real number to each outcome of an experiment.

5. A probability space (S, F, 1) is a trio that models (describes) probabilistic behavior. Here, .S is the sample space and F represents

the set of all subsets of .S, where I is required to form a o-algebra of subsets. y is a probability distribution—a probability measure.

Definitions. 1. Given an experiment and a sample space .S of all possible outcomes, a random variable X assigns a real number z to
each outcome s € S. We sometimes write X (s) = x. A real-valued random variable X with Borel distribution is a random variable
defined on a probability space (S,F, i), where S C R is the sample space of values X assigns. F is required to be a collection of sets
containing elements of S (always including the empty set and S itself) and for which any complement of a set in F is again in F and
every countable union of sets in IF is again in [F. Furthermore, we require p to be a Borel measure in the sense of Section 4.2, for which

every set in F is y-measurable and for which [ Xg dp = 1.

2. For such a real-valued random X, the probability that X assigns a number in a set A of Fis P[X € A] = [ X4 du.

Examples.
1. Suppose X = the roll of a fair die. Then P[X < z] = x/6 forx = 1,2, 3,4,5,6.

2. Suppose R is the total on a roll of two fair six-sided dice, where . The two outcomes, for example, of rolling a three, which are
11, 12, 13, 14, 15, 16
21, 22, 23, 24, 25, 26

“1,2” and “2, 17 (both have R = 3) are different. There are 6 - 6 = 36 two-dice rolls. The sample space is S = { S Dbt }

51, k , 55, 56
62, 63, 64, 65, 66

61, 62, 63,
IF is the collection of all the 236 subsets of S, and i satisfies ({s}) = 1/36 for any s € S, and (for any general A C F) u(A) = n/36,
where |A| = n. Therefore, for example, u({R = 7} = u({16, 25,34, 43,52,61}) = 6/36 = 1/5.

3. Suppose U is a continuous random variable (one that has an absolutely continuous probability measure) that assigns values z
in the set [0, 1] with equal weight, so the density function is f(u) = Xjo,1j(u). (U is the uniform random variable on [0, 1].) Then the
sample space is S = [0, 1], F consists of all the Lebesgue measurable subsets of [0, 1], and, for A C F, pu(A) = m(A).

Exercises.
1. Let Y be the number of heads tossed with three coins. List S, I, and p. You may wish to note that the sample space has eight elements,

and, for example, the outcome HTH is different from the outcome HHT. Both have Y = 2.

2. Let W be the continuous (exponential) random variable that assigns values x in the set [0, 00) according to the density function e™*.

Find the cumulative probability function P[X < z] for any x € [0, c0).
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Practice Test on Chapter 4
(These are take-home, i.e. tough, problems.)

1. A 0 — algebra over a set X is a collection of subsets of X that is closed under countable unions, countable intersections, and
complementation. If we partition [0, 1] into the two disjoint sets S = [0,1/2) and T' = [1/2, 1], how many elements are in the
resulting o-algebra generated by .S and 1" (by taking every possible countable union, countable intersection, and complement of

those sets and resulting sets)?

2. If we take every singleton set {z} for every x € R, and then take every possible countable union, countable intersection, and
complement of those sets and resulting sets (i.e. the algebra generated by the singleton sets), is this the same algebra as the

o-algebra generated by every possible interval on R? Why or why not?

3. Define the function p : [0, 1] — RT by p(x) = 2. Define the measure of subintervals of [0, 1] by

o([a,b]) = p(b) — pla) = b — a?.

Is the measure p, universal? Countably additive? Translation invariant? Does it satisfy the property of length agreement?

4. Use the three-step process to find fol (x + 1)dp,.

5. Find the angle between = + 1 and 22 in L?(u,,), where p,, is defined as in the previous problem.

6. Toss two coins, and then have a machine (which is highly irregular and works unreliably) fill a one-gallon paint can with a volume
z of paint. Suppose any value x between 0 and 1 gallon is the filled amount of paint randomly attained with equal weight. Let X

be (the number of heads tossed + x). Describe the probability space for X and find a formula for the cumulative probability of X.
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Chapter 5

Hilbert Space Operators

5.1 Bounded Linear Operators on >

Key Concepts
1. A Hilbert space operator is a bounded linear map from one Hilbert space to another.

2. Anoperator T is linear when, for f, g € H and scalar constants a and b, T'(af + bg) = aT(f) + bT(g). It is bounded when there
exists a constant K > 0 such that, for every fin H, | T(f)||; < K - ||f]],-

3. A rank-one operator T on L? has the form T'(f)(z) = (f, ¢)¢ for a given ¢ € L>.

4. Two operators 7' : H — H and S : G — G are isometrically isomorphic when there is an isometry U from one of the operator’s
domain Hilbert space onto the other’s that makes the action of the operators equivalent, meaning (T'f, g)3 = (UTU ~tu,v)g =
(Su,v)g forall f,g € Handu,v € GwithUf =wand Ug = v.

Broader Descriptions Operators on a Hilbert space H are objects that map the elements of 7 to another Hilbert space, say G (where

perhaps H and G are the same space)'. So if the operator is 7', then we describe the map from one space to the other as
T:H—G.

If f is an element in H, then we write T'(f) as its image in G. We will often relax the need for parentheses and write T'f for T'(f).

We will assume 7 is separable: it has a countable basis. This section examines the situation where H is an L?(j) space. Then an
operator on L2 (1) maps the functions in L2 (1) to the objects in another Hilbert space G, where perhaps G = L?(u). In general, we say

the operator 7' is linear when, for f, g € H and scalar constants ¢ and b,
T(af 4+ bg) = aT(f) 4+ bT(g).
The operator 7" is bounded when there exists a constant K > 0 such that, for every f in H,

IT(Nle < K- (£l

The smallest such K, described in terms of the infimum over all such constants, is the norm of the operator, or the operator norm, and
so a bounded operator is one with finite operator norm. The value of the norm for a given operator T is written ||T'||, and it is calculated

as
[Tl = sup{[[T fll},

'In the 1960s, Louis de Branges and James Rovnyak examined a certain type of functional Hilbert space, which they described as “square-summable.” Their space of

square-summable power series is a vector space over the complex numbers that admits an inner product. It is naturally seen to be equivalent to £2. Studying operators on

square-summable power series continues to form a productive area of investigative research.
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where the supremum of the G-norm values is taken over all elements f in H with || f||,, < 1.

Example: Choose a function () in an L? space. Then, for f in it, define the operator T}. : L? — L? by

T.(f) = {fyr) - r(@).

You can see that every function in L? is mapped to a constant multiple of 7(z). Hence (considering L? as a vector space of functions),
the range of 7). (the set of output values) consists of the one-dimensional span of the function 7. (The one-dimensional span of r is as
defined in any linear algebra course as the set of functions g of the form g(z) = ¢ - r(x) for a constant c. In this case, the output values
of T, are exactly that type, with ¢ = (f,r).) Because its range is one-dimensional, the operator 7. is a rank-one operator. It turns out
T’ is a bounded linear operator, and we can show why each of the two properties hold.

Linearity: T, is linear because, for L? functions f and g and constants a and b,

Tr(af +bg) = (af +bg,r) - v(z) = a(f,r) - r(z) +b(g,r) - r(z) = aT:(f) + bT:(9)-

Boundedness: We can see T, is bounded by examining the L?-norm of any f € L?:

IT-(OIF = 1K) - (@) = [ ml - [l (@)]]-

By Schwarz’s inequality (see p. 140), [(f,7)| < ||f|| - |||, and so

IT-COIE< LA 1) - 7l = [l - £

Boundedness is therefore satisfied by setting K = ||r||2. This value is the operator norm || 75|, since sup{||T;.(f)||} = ||7||? is attained
when || f|| = 1.

Problems. 1. For the function space L?(—, ), define Teosz(f) = (f, cosx) - cosz. What is Teos . (f) when f(z) = 2%? Determine

the operator norm || Teos || and show || Teos 2 (22)]| < | Teos || - [|22]].

vy 0

2. The shift operator S on ¢? is defined for a vector o € ¢2 by S(¥) = S( Z_:za ) = Z_é . That is, it shifts each component of the

vector down one spot and places a O in the first component. We take up the shift operator for an arbitrary Hilbert space in Section 5.3.
1

Determine S(¥), where ¢ = [3] .

3. Determine S(¥), where ¥ = | { |, where the 1 appears in the nth coordinate spot.
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5.2 Bounded Hilbert Space Operators

Key Concepts
1. The form of a linear operator on a finite-dimensional Hilbert space can always be described as matrix multiplication.

2. A rank-one operator T on a given Hilbert space H maps a general element v € H to Tu = (u, v)v, where v is a chosen element
of H.

o0
3. Anoperator T : H — G is compact when it can be writtenas T'(f) = > A\ (gn, f)®n for f € H, where the vectors go, g1, g2, - - -
and ¢g, @1, ¢2, . . . are (not necessarily complete) orthonormal sets. Hélr?eo)\o, A1, A2, . .. forms a sequence of nonnegative values—

the eigenvalues of T'. An excellent example is T'(f)(z) = foﬂ sin(z + y) f(y) dy on L2(0, ).

Four important examples of infinite-dimensional Hilbert spaces

1. For real-valued elements u, v € L*(R), (u,v) = [ uv.

o0
2. For 2, (i, ) = > wujvj, where u; and v; are the jth (real-valued) entries in the corresponding vector.
Jj=0

3. For complex-valued analytic functions f,g € H?(D) that have unit circle boundary functions f(e‘*) and g(e'’), respectively,

2m ) i [es) _ . o0 . . 5.5 .
(F9) ooy = 3 | FNgTE) di = 3 anb, where f(e") = 3 ane™ and g(e) = 3 bue™
0 n=—

n=0 n=0

4. For real-valued elements u, v in the Sobolev space W12, (u, V) e =

Qe

u(x) - v(x) de + jlz Du(z) - Dv(x) dx.

The Jordan Form Theorem If an n x n matrix 7" has m linearly independent eigenvectors, then there exists an n X n invertible matrix

P such that PJP~! = T, where J is a block diagonal matrix of the form J = { ' . (Any blank part of the matrix is assumed
I

to be filled with entries that are all zero.) J; corresponds to the ith linearly independent eigenvector and is a block matrix of the form

Ai
Ji = { Ty ] , where )\; is the ith eigenvalue (and the blank components are assumed to be filled with zeros).
Ai

Examples. 1. Suppose T' = [% 7% N It has two eigenvalues A = 4 (which has multiplicity two—in this case, it appears twice on the

diagonal and 7" is lower-triangular) and A = 1. Find two eigenvectors for 7', one for each eigenvalue.

Solution: Set T’ [z/] =4 [aand equate coefficients to solve for x, y and z, using an arbitrary value, say 1 or —1, for any free variable.

Repeat with A = 1. For example, [7(1]1} and [((H are two solutions.

2. What is the Jordan form matrix J?
Solution: Because these are the eigenvectors in the last problem are the only two up to arbitrary constant multiples, the other column of

P must be a generalized eigenvector as described in the footnote on p. 228. The next exercise shows it is a generalized eigenvector that

goes with A = 4. Then the Jordan block for A =4is2 x 2,and J = [é % %]

Exercise Suppose T’ :[% i 1%] It has only one eigenvalue A = 3 (which has multiplicity three as a zero of the characteristic

3.

5.8

polynomial p(z) = —(z — 3)3).
1. Show 7 = [j ] is an eigenvector for 7', in that it solves the eigenvector equation 7' = A4.

2. Given ¥ is the only eigenvector for T, what is the Jordan form matrix J?

. . 1—4 -2 . . .
}, which has inverse P~ = z [71 9 2 ] , prove T satisfies T' = P.J P~ for the matrix J you constructed in

3 — 1
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5.3 The Unilateral Shift Operator

Key Concepts

1. The shift operator M, on H?(ID) acts according to M (f)(z) = z- f(z). The boundary function for M (f)(z) is " f(e'*). Hence
M., induces a shift operator S on H?(T) defined as S(f)(e") = e f(e™).

2. A bounded linear operator S on a Hilbert space H is a unilateral shift operator if S is an isometry and lim [|(S*)"f]],, = 0 for
all f € H.

27

it .
3= [ St loglg(e™)| dt
0

3. An outer function on H?(D) is of the form g(z) = ce

4. An inner function on H* (D) is either (a) a so-called Blaschke function, such as B(z) = [] ===, where a,, = 1 — 2" (and a

second, simple example is B(z) = z), or (b) a so-called singular inner function, such as s(z) = e>-1. These functions have norm

one on the boundary of the disk.

5. An invariant subspace M is invariant for a given operator A for a given operator A when Zz € M for any z € M.

Inquiry. For a given operator A on a Hilbert space H, what are the invariant subspaces for A??

A partial answer comes from Buerling’s Theorem.
Beurling’s Theorem: The (nontrivial) invariant subspaces of M, (the operator multiplication by z) on H?(DD) are characterized as
bH? = {b(z) - f(2) : f € H?(D)}, where b is an inner function in H?(D).

Inquiry. Does every (bounded linear) operator A on a Hilbert space H have a nontrivial invariant subspace?
Answer: No one knows. This is the most famous open problem in function theory. Though it has been worked on by mathematicians in

earnest for well more than 75 years, no one has been able to figure it out.

Example Let b be an inner function on H2(D). M = b(z)H?(D) for S = M2 on H?(D), defined by S(f)(z) =
invariant for S because, for any x € M, x = b(2) - f(z) forsome f € H2(D). Then Sz = 22b(2) - f(2) = b(2) - 2
also in H*(ID) (in fact, || 2% f (2)|| 2y = ||/ (2)|| r2(p)), and so Sz € b(z) H*(D) = M.

2% - f(2). Then M is
2f(2). But 22 f(2) is

Exercises. Say why the subspace M is invariant for the indicated shift operator S.

1. M = " H?(T) for the shift operator S(f)(e") = e f(e''), where f € H*(T).

2. M ={[*®)] : g € H*(D)}, where b is an inner function in H?(ID), for the shift operator .S defined in Exercise 8.

2The nontrivial ones, of course — () and H are always invariant
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5.4 The Spectral Theorem

Key Concepts
1. A self-adjoint operator T' (on a Hilbert space H) — an important class of operators with many special properties
2. A multiplicity one operator

3. A Hilbert space isometry that gives an equivalence between H and L2 (1) for some Borel measure j, where the action of 7T is as

simple as possible

4. The Spectral Theorem that describes the interaction between these objects

Inquiry. Can we “diagonalize” a self-adjoint operator, even one that acts on an infinite-dimensional Hilbert space? What would such a

diagonalization look like?

The Spectral Theorem: If T is a self-adjoint bounded linear operator on a Hilbert space H with multiplicity one, then there exists a
Borel measure 1 on R and a Hilbert space isometry U : H — L?(u) such that UTU ! f(z) = x f(z) for f € L?(p).

Examples: 1. Suppose T acts as self-adjoint (it is its own conjugate-transpose) matrix mulitiplication acting on the finite-dimensional
vector space (say, R™). If, for example, the matrix has n distinct eigenvalues )\, with corresponding eigenvectors €y, then we can con-
struct 4 as the sum of n point masses at the Ax’s. The isometry U is constructed from the eigenvectors, and the Spectral Theorem is a

special case of the Jordan Form Theorem in Section 5.2.

2. Suppose T is a multiplicity one Toeplitz operator acting on ¢2 that is self-adjoint (again, it is its own conjugate-transpose). (Equiv-
alently, T = T, is multiplication by the real-valued function w on H?(D) followed by projection onto H?(ID).) Can we know what
the Spectral Theorem’s constructions are? The answer was impressively described in the 1960s by American mathematician Marvin

Rosenblum. Here is his result:

1. The spectral measure y is absolutely continuous, so p(x) = m(x) da for some (almost everywhere) continuous function m(z) on

R. Hence, a description of the spectral measure p is determined from a description of its weight function m(z).

2. The support of the spectral measure  (the portion of the real line where m(t) # 0) is the spectrum of 7" and is denoted sp(T'). It

is equal to the interval [c, d], where ¢ = minw(e) and d = maxw(e?).
3. Write the set B, = {e'* : w(e') > x} = {e" : a(x) <t < b(x)} for some real functions a(x) and b(z). Then

b(x) — a(x)
2

m(z) =7 'sin (

) on [c¢,d].

4. The isometry U, defined on kernels k; € £2 and for almost all real = according to

Uk2)(z) = [g(z, 2)V1 — zZee@) /1 — zeb@)] 1,
sets up T}, as unitarily equivalent (via the Hilbert space isomorphism U/) to multiplicationby x on L?(p). That is, UTU ~* f(z) =

zf(z) for f € L?(p). Here, |w(e™) — z| = |g(e', x)|%, where g is outer and z € R satisfies 5= fOQN |log |w(e) — z|| dt < oo.
Furthermore, U ~1(f)(z) is the vector in ¢? formed from the Taylor series coefficients of h(z) = fcd F@)U k) () dp(z).
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Sample Test Problems for Chapter 5

1. Define the operator Sf = [ij’;l((j))] on H, where f(z) = [28 ] € 'H = H?(D) x H?(D). Show S is a unilateral shift operator.

2. Let T be the so-called “Volterra operator” on L*(0, 1) defined as T'(f)(z) = [ f(y) dy.
0

(a) Prove T'is linear and bounded.

(b) Whatis T'(z%)? T(cos x)?

3. Show, if c € (0,1), the subspace A = {f : f(x) = 0 for almost all x € (0, ¢)} is invariant for the Volterra operator defined in the
last exercise.

4. The multiplication operator T on L?(0,1) is T(f) = r(z) - f(x) for a givenr € L*(0, 1).

(a) Prove T'is linear.

(b) Suppose 7(z) is continuous on the interval [0, 1], so it attains its maximum. Define M so |r(x)| < M for z € [0, 1]. Prove
IT(Hllz20,1) < M- (| fllz20,1)-

(c) Now additionally assume M = |r(xg)| for some zy € [0,1]. Define a sequence of functions g,(x) = /n/2, if z €

[zo — 1/n, 20 + 1/n] (and O otherwise), n = 1,2, 3, ... . Find the L?(0, 1)-norm of g,,.
(d) Find an expression (in terms of the integral) for ||7(g,)||L2(0.1), Where g, is as defined in part (c).
P g g (0,1) g p

(e) Use the fact that, for f continuous at zg, (n/2) fxﬁl/n

S F(#) dt — f(xo) to evaluate your expression in part (d) to find
Jim [[T(gn) [ 2(0,1) -

(f) Use your results of parts (b) and (e) to show ||T'|| = max{|r(z)|: 0 <z < 1}.

5. Give any example of a compact bounded linear operator on the Hardy space H?(ID). Make sure you say why the operator is

compact, and prove your operator is linear and bounded.

49



Sample Test Problems for Final Exam

. 1
. Use the standard construction to find [, 22 dx.

. Use the Riemann-Lebesgue theorem to determine if the following Riemann integral exists.

1 if x is in the Cantor set C'

0 otherwise

R'fol f(z) dx, where f(z) = {

Say why or why not, including identification of the function’s points of discontinuity. Also, if it exists, find its value.

. Find each integral | f by applying either the Monotone Convergence Theorem or the Lebesgue Dominated Convergence Theorem.

As you use either theorem for each integral, make sure you explicitly state why each of the theorem’s assumptions holds.

a) fol ﬁ dz

b) fooo e dx

. Use the Monotone Convergence Theorem to prove the following:

For f € L' with f >0, if [ f =0, then f = 0 almost everywhere.

. A. Each of the following functions are measurable. Find their L”-norms in the given function space.

i f(z)=coszinL!(—m,m)

ii m(z)=1/z* x> 1in L?(R)
B. Find the L2-distance between s(z) = 2v/z and t(z) = 1 + 22 in L?(0, 1).

. Let X, a random variables with Borel distribution, be the number of Aces dealt in a well-shuffled two-card deal. Using combina-
toric formulas, it turns out there are 1326 hands. The probability of dealing two Aces is 1/221, one Ace is 32/221, and no Aces is
188/221.
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7. a Describe (don’t give a complete list) the elements of the sample space .S, and explicitly write out one of them as a representative

example.

b Identify (don’t give a complete list) the elements of the o-algebra of subsets I, and explicitly write out three of them as a

representative example.
¢ Describe in detail the probability measure .

d For your measure 4 in Part (c), determine | 2% dpu.

8. Let k(z, y) be real-valued and continuous for  and y in (0, 1), so fol fol |k(z,y)|? de dy = M < oo for some constant M. For
f € L%(0,1) define the operator T by

T(f)(a) = jux,y) () dy.

a Show T is linear.
b Use the Schwarz inequality (|(f, g)| < ||f| - ||lg||) to prove T is bounded.

¢ When k(z,y) = zy and f(x) = 22, evaluate T'(f)(x). In other words, find T'(z?).

9. Prove the Riesz-Fischer Theorem: If { f,,} is a Cauchy sequence of functions in an L? space with p > 1 (so that, given € > 0,
there exists IV so that || f,, — fim ||, < € whenever m,n > N), then f,, converges to a function f € L” in the LP-norm limit.
In your proof, feel free to use Lemma 3.1.2: Let fi, € L? fork = 1,2,3,... . If Y _ || fx|| converges as a real-valued series, then

> fx converges to a function g in LP. Moreover, Y . fr(z) converges to g(x) pointwise for almost all z.
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Chapter 6

A Few Ideas for Research Projects

A student who has finished a course on the Lebesgue integral may naturally be interested in pursuing an undergraduate collaborative
research project. The possibilities are endless, but here are just a few ideas that follow immediately from concepts presented in such a
course. Many are not developed in a specific manner, but they are offered with a simple hope that they might be helpful, and that they

might encourage an increase in the number of such undergraduate investigations.

1. A student can look at standard operators, such as a composition operator, on various Hilbert spaces. A wonderful undergraduat
project would be to study operators on L?(u) where y is a point mass measure, with either a countable number of point masses
(fairly difficult in many cases) or a finite number (which could generate some interesting results. These projects would especially

builds off of material presented in Section 4.2 of this Resource Guide.

2. A student could nicely determine orthogonal basis structures for various L?(p) spaces. Section 3.3 and 3.4 look at such bases
for Lebesgue measure, specifically for L2(IR) and L?(0, 1). Those could serve as models for students to explore other L? spaces,

including spaces where the measure is not absolutely continuous.

3. A student could get curious about various probability spaces that would correspond to real-life scenarios. Many random variables
are still not understood well mathematically. In 2015-16, Bill Johnston mentored Alex Olivero at Butler University on a project
that looked at issues connected with the average payoff random variable on repeated plays of the St. Petersburg Paradox. Alex

presented an award-winning poster at the JMM on his work.

4. Hilbert spaces of course include finite-dimensional ones, and so the topic of operators on Hilbert spaces include matrix multiplica-
tion operators on finite-dimensions. The material in Chapter 5 launches investigations on this material. Many projects are possible
for interesting undergraduate investigations. For example, and in brief:

(a) What is the Jordan form of various categories of matrices?
(b) What properties are involved for matrices that are isometries or partial isometries?

(c) What are the invariant subspaces for interesting examples of matrix multiplication?

5. Operators on infinite dimensional Hilbert spaces are challenging, but questions can be tractable. A student might study a restricted

category of operators, such as a restricted category of compact operators, and see what generalizations can be made about them.
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10.

11.

Complicated operators can be made simpler by projecting them down onto finite-dimensional subspaces of the Hilbert space, and

then linear algebraic techniques can be applied.

Describing relationships between Hilbert spaces can be interesting for students. Of course, finite-dimensional Hilbert spaces are
isomorphic to each other when their dimensions are equal. But finding a formula for the Hilbert space isomorphism that takes
one onto the other, and the inverse isomorphism, can be a great investigation for students when the vectors in the spaces are quite

different objects such as column vectors and functions.

. Structures of singular continuous measures and associated spaces are incredibly active areas of research. (For example, see [2].)

A student could formulate a singular continuous measure p of her/his own that is different from the Cantor set, and then ask

questions about it, such as its value for [ = dy.

. Nonmeasurable sets can be an area of interest. Their constructions can be varied. A student may wish to construct an example

different from the Vitali set of a nonmeasurable set.

. The Cantor set is clearly only one example of a measure zero set of uncountable cardinality. Relationships between set cardinality

and measure zero (either for Lebesgue measure or some other Borel measure) could provide fruitful investigations. For starters, a
student might wish to construct a number of measure zero uncountable real-valued sets, thinking about algorithmic constructions
that might provide assistance with these constructions. Then their non-Lebesgue measure could be found, using other Borel mea-

sures [i.

There can be new formulas or insights in working with kernel functions on various Hilbert spaces. Almost any undergraduate pro-
fessor has in the past assumed topics such as de Branges-Rovnyak spaces are far out of reach of undergraduate students, and in fact
these types of topics may be new to almost any undergraduate faculty mentor. But they are very accessible for a student who has
worked through introductory material on operators, and they should be accessible to both mentor and student for some interesting
work. Indeed, de Branges-Rovnyak spaces form a topic that is really hot right now — many items in operator theory and func-

tion theory seem to be explained well by them. An excellent survey, which an undergraduate student can now understand, is at [1].

Here’s a space to fill in your own interests and ideas for student collaborative research work:
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